=4

T(2,0)

A256107

1

=2

T(1,0)

=1

T(0,0)

o o
AN DM~ <TANN

AN NN NN

QO —dNMNLO
_.(0\55 655
k-

AN
— <O N«

O 1N M< p DA
P T SR i
< St S K SINET XK e
— A N A XA A DA
CRET X AR XT IR X
T TT T T R TN ha <X B AV¢( V\‘ Nos
DY #Awtv.ﬁv‘».‘mvmmw»ﬂ‘v.»&v.\t.v

NETAAET MK R Y

A QM V‘ D

& A5 M( .A A‘\vx QA PG
R AB IR
R R TINR M

N R AN R
v 5 72 N AN
(ﬁv@@.ﬁw"‘( \\V. ML
PR < NS ANW«&.&.@.
BRSNS \ P A
CRIOIT O | OO
VR S, A NP AL ¥
N = IS Al»( ,
,a»“w.ﬁiwznw' T AL
.&J‘?ﬂz uWAW‘ .7'17 Av‘wAKAw.\‘
PRI X AL A0
oo ZOL K RN A N i
vj,,hv(’kﬂ...,.mw&}ﬁ IR A
AR IR M R AR
3 N V' \V‘V 5 h‘ V‘v
LA MNSEE XS B2P 4
NP SR 2R A
L RK RARLX

L PAAAY

S E i
%Tvi@wmwﬂvﬁ.\mwmmw
B X AP
A.\\”“\k kv‘ﬁv %
vwflv(, lv hv'v A

%
I 25 (SR

) Y >
g,.tw»u,ﬂwi 5o’
LK PN K
S PPNEY S
VA= O
K ML X )




